Question Paper

Set-3
Subject: Mathematics
Grade: IV
S.N Folder Topic Question with Answer Options Image Correct
Number & (If Any) Answer
Question Code (Option-
A,B,C,D)
1 Building Starting from the left, the number cards
With above have to be arranged from SMALL to 304 | |403| | a3 | | 348 430
Bricks BIG. Which number should come just before
5 27 344 B
Mathematics
8243
Answer Options
Option A Option B Option C Option D
43 304 430 403

Page 10f9



Building With
Bricks

Which list has numbers in decreasing order?

3_19
Mathematics Answer Options
2570 P
Option A Option B Option C Option D
469, 496, 694, 946 305, 503, 530, 350 712,172,217, 127 623, 326, 263, 236
Building With 220+380=400+"7
Bricks
3_19
Mathematics Answer Options
2572 Option A Option B Option C Option D
0 100 110 200
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2 11 D
Mathematics Long and Which of the following points is not in line B C b c
Short with the others? A ° P
5120 o
Answer Options
Option A Option B Option C Option D
A B C D
A S —~_ "~
L2 AN
Mathematics Long and Which of the following B 8
Short ribbons is the longest?
6734 C
D— —~——
Answer Options
Option A Option B Option C Option D
A B C D
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Line A
12 S _ Line B
Mathematics Long and Line B is longer than line A. 8
Short By how much is it longer?
6741 |
Answer Options
Option A Option B Option C Option D
21 units 3 units 4 units 24 units
Folder
Name & Question with Answer Correct Answer
. Topic Image
Question Option (Option-A,B,C,D)
Code
1_2 Mathematics Long and Manish lives in a town which is 35 km 228 m D
6749 Short away from Mumbai. Shekhar's town is 37 km
away from Mumbai. If Shekhar comes to

Page 4 of 9




Mumbai and then goes to visit Manish, how
much distance will he cover totally?

Answer Options

Option A

Option B

Option C

Option D

35km 265 m

1km772m

71km 772 m

72 km 228 m

1_2 Mathematics Long and

6756 Short

A picture of India's Advanced Satellite
launch Vehicle (ASLV) is shown above. The
ASLV was used in 1992 and 1994 to launch

scientific satellites.

In the above figure, how many Indica cars
will be needed to make a line about as long
as the ASLV?

Answer Options

Option A

Option B

Option C

Option D

About 48

About 17

About 10

About 6
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« p
. When Ashish's father stretches out his
1_2 Mathematics Long and hands, the distance between the tips of his B
6764 Short fingers is a little less than his height. That
distance would be closest to:
9
Answer Options
Option A Option B Option C Option D
50 centimetres 150 centimetres 300 centimetres 600 centimetres
1_4 Mathematics Long and Which of the lines shown below is 5 cm Le A
7416 Short |Ong? e . I I . n‘
10
Answer Options
Option A Option B Option C Option D
EF GH LM ST
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Sugar cube

1 4 Mathematics An ant comes out of its hole and travels along
- Longand | the dotted lines to the piece of sugar. e 0
Short
7431 T\
How much distance does it cover? | /17777 N
11
Answer Options
Option A Option B Option C Option D
1m26 cm 2m25cm 2m70cm 22m5cm
The lengths of 4 flagpoles are shown here.
1_4 Mathematics Long and Which of them is the SHORTEST?
7441 Short (Clue: Use the lengths mentioned next to
each flagpole.)
Answer Options
12
Option A Option B Option C Option D
T (@) (@) -|- (@) T (@)
£ £ £
s 8 3 :
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A
318
Mathematics Long and Which of the following would be the BEST )
Short unit to use to measure the length of a skirt? i
3198
13 ¥
Answer Options
Option A Option B Option C Option D
Rupees Metres Grams Centimetres
14 5 10 10 cm
Mathgmatics Long and The length of this colour pencil is 10 cm.
5702 Short Nearly how long would its LEAD be? @T
Lead
Answer Options
Option A Option B Option C Option D
3cm lcm 2cm 5cm
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15

1 metre
2 11 _ Long and The ribbon shown below is 1 metre long 0o 1 2 3 5 9 10
Mathematics 8 with marks at equal distances. How long is S— ' £ B

Short . Ribbon

3215 the stick? 3
> Stick
Answer Options
Option A Option B Option C Option D
2 centimetres 20 centimetres 200 centimetres 2 metres
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